


1. Bne.nenge

B macrosmuedi paboTe! IaHo ONHCAHRe HOBOE BepCHE momporpamuu ENLOSS, sams-
jomeiicd COCTABHOH YACTBI0 MPOTPAMME MOREIIEDOBAHAA MEABANCPHRIX K&CKaIoR
CASCAD. ITomnporpamma ENLOSS MozemapyeT mpoGer uacTunsl (IpoTosa, HedTposa,
nt- m 7°-Me30HOB, THXKENOT0 HoHA). [IpE HTOM ONpelengercd TOYKA BIAMMOmed-
cTBHE HajleTaomell YACTRIM ¢ SAPAMH MPINEHN, TOYKA € OCTAHOBKHA BCIElCThEE
NoTeph SHEPTHE HA MOHM3AIHIO, TOUKA pacmana (AL 7*- u 7’-Me3080B), a TakwKe
KOODIHEATH TOUKH BHIIETA YACTHIE W3 Mumend. B noamporpasove ydHTHIBaeTCH
rETEPOTEHEAL CTPYKTYPA MHEIICHA (€C/IH TAKOBAL HMEeTCH).

OTanuus HOBOH BEpPCHA TOAPOrPAMMEL OT CYLIECTBYIOUIMX COCTOST B TOM, 4TO
yKajaBEHKE BMWIDE 3444YA PEIAOTCA B ONHOK TNOmmporpaMme (paHbine ITofl meaw
CAYXKHNA BECKONLKO TNOAOPOrPAMM — OTJIEILHO JUIS KAKAOM THOA gacten). MMoa-
[pOrPAMMA CNPENENEET THI TACTHLE, & 33TEM DeATH3YETCH COOTBTCTRYIOLImE an-
FODETM, VIRTHBOMAA 70T THI. Co3namEe HOBOI'O TE€OMETPHISCKOTO MOAYIA {08
[1]) nosponseT ynpocTHTS noamporpamMy ENLOSS B TOM CMEICHE, ITO TENEph Bech
ARAIH3 TeTePOTEHHON CTPYKTYPH MHEIIEHHA BRHECEH B 3TOT MaAy/ab. braroxaps atam
ocobenEocTaM moanporpamMa ENLDSS ynOpocTHAACh, CTATA JErX0 IHTAeMOH M (n
cnysae HeoBXQmAMOCTH) JIEMKO MONEPHE3HPYEMOH.

Haxe npaeomaETcd 610x-CXeMa aIrOpETMA DOIHPOT PAMME ENLOSS, = IIpunoxe-
men I — ee moanwnt Texcr (ma sawke FORTRAN'TT). Kpose Toro, » Hprnoxe-
ey 1] IpHBOASTCA HEKOTODHE NONNDOTDAMMEL Ie0METPEYECKOID MOXYTS, KOTODHEe
6LINA yCOBEPITERCTBOBAKE,

4PafioTa BHIOIHEEHRA OpA {PEEANCOBOE monmepxke Poccufickore dospa GyRNAMERTATLELE BC-
creponammi (komw opoexTos 97 — 01 — 00746, 98 — 01 — 00190).



2. Anropurm

AnroprT™ nonnporpasmer ENLOSS opraamsosan caenyouM obpasom.
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Brrxon B3 nommporpaMMhl.

Cneayer OTMETHTE, 9TO IPHE MOACIMPOBAHER B KOPDEKIHE Hpo0eros JacTANE HOI-
nporpamma ENLOSS yIRTHIBALT HAINTAE R/IA OTCYTCTBHE BCINECTBA B TOE 30HE MR-
IOEHH, T B SAHHLE MOMEHT HAXORWTCE IaCTANS. Y unTHIBAIOTCA TaKke CBOKCTBA



3TOTG BEINECTBA, THN YACTENL M IPOBEDAETCA, NPEBOCXONHT J¥ JHEPrAf YacTHIL
JANAHEYH NS KAXAOT0 THOA YACTEN NOPOTOBYI0 BENHYHHAY, KOTOPAd ONpenenseT
BOIMOEHOCTE BIABMORENCTRRY YACTHIL ¢ AAPAME MMINeEn (HA NPEBGISHHOE CXEME
3Ta IpoBepka He ofo3Hateda, noapobuee . Ipanoxense I).

3akmoueHne

Henonesyemite pepcrr nonuporpamumis ENLOSS (a Taxie DORNPOr PAMM regMeTpHYe-
CXOTO MOAY/IS) MOTYT OT/IRYSTLCE OT JAHHOTO JECh AX OHECAHHS, IT0 MOXET GLITh
CBIBAHC € NOCTOSEHHM Da3BRTHEM ANTOPHTMOB, DACIIEDEHEEM KIIACCA PeIIZEMLIX
33034 B T. . Co BCEMH PONPOCAME H IAMEIAHEIME, KACAIOIIAMECE ITHX monynei,
cenyeT OOpAINATLCE HEIOCPEICTBEHHO K aBTOPaM.

IIpunoxenune 1.
ITonnporpamma ENLDSS

SUBROUTINE ENLOSS
e e ——————— e
c ENLOSS IS THE MONTE CARLO SUBROUTINE FOR THE
c CALCULATION OF THE PARTICLE ENERGY LOSSES (DE/DX}.
¢ ——— -

TMPLICIT REAL*8 (A-H,0-Z)
COMMON /BLOKT/TR(85) /BLUKS8/AN{1700) /BLOK9/RP{1700)

* /BLOK10/PI2G /BLOK11/POGL/PMABSR/PIMR /BLGRS/PRLEN

* /BLOK13/TOBRN , TOBRP /BLOK23/TOBAR(5)

* /BLOK14/XG,YG,26 /ITT/IT /TKCH/TKCH

* /YRPR/WP(S) /WRPRIN/WPIN(9)

* /BLOK1/GH(9,30) /GHAUK/GHAUX(30)

» /GUOUT/GOT /GOTOL1/GOT1,GOTO /PRBEG/RO

* /DEMAX/BX1(3) ,EDX1(3) ,DEDX1(3) /IEMAX/IEMAX

* /BLOKTI/TRI(90) /BLOKBI/RNI(90)
c- —_— —————————
c Paremeters used to determine the average nuclear range.

DIMENSION WAYM(T)

DATA WAYM/2.284,3.269,2.194,1.914,1.914,1.914,1.914/
c__ _______
c Function PASSNC defines the range of a particle according to its
H total macroscopic cross section.
c Function EINT makes sither exponential or logarithmic
c interpolation.
C _______
H duxiliary parameter used in function EINT:

IT=0
c Paremeter indicating that the particle is absorbed (POGL > 0):

POGL=-1.0D0
c Parameter indicating that Pi-meson (0) is decayed into two
c gammas (PI2G > Q):

PI2G=-1.0D0
c Porameter indicating that Pi-meson {-) is stopped due to its
c energy losses (PIMR > 0):

PIMR=-1.0D0
c Parameter indicating that ENLOSS operates with neutroms at
C energies exceeding 10.5 MeV (PRLEN > 0):

PRLEN=-1.0D0
c Starting values for nuclear and jonization ranges:

PROBEG=0 . 0DO

RO=0.0D0
c




Determination of the particle place inmide the target volume:
CALL QUT(WP(1),WP(2),¥P(3))
NZN=IDINT(-G0T+0.3D0)

Some new variables:
IMN=IDINT(WP(9) /1000, 0DO+0.3D0)
IF(WP(8).GE.9.0D0) IQ=IDINT(WP(8)+0, 3D0)
IF(WP(B).LT. ¢.0D0) IQ=IDINT{WP{B)-0.3D0)
Sorting of the particle type.
Particles is not identified:
IPART=7

Pi-mescn {0):
IF(IM.EQ.O.AND.IQ.EQ.0) IPART=-1
Neutron:
IF(IM.EG.1.AND.IQ.EQ.Q) IPART=Q
Proton:
IF(IM.EQ.1.AND.IQ.EQ.1)IPART=1
Pi-meson (-, +):
IF(IM.EQ.0.AND.10Q.KE. Q) IPART=2
Deutron:
IF(IM.EQ.2.AND.I}.EQ.1)IPART=3
Triton:
IF(IM.EQ.3.AND.IQ.EQ.1)IPART=4
He-3:
IF{IM.EQ.3.AND,1Q.EQ.2) IPART=5
Heo~4:
IF{IM.EQ.4.AND.I0Q.EG.2)IPART=8
Carbon—8/12:
IF(IM.EQ.12.AND.IG.EQ.8) IPART=7
Unidentified particle: IPART=7.

IF(IPART .NE.2.AND.IPART.NE.-1)G0 TO 1000

The range up to the decay point:

B=RNDM(-1)

BL=-DLOG(B)

IF{IQ.EQ.0)TPIZ=0.0000054D0
IF{IQ.NE.Q)TPIZ=760.45D0
PREASP=BL*TPIZ+ (SQRT(WP(7)+ (WP{7)+280.0D0)) /WP(9))

IF (GEAUX{NZN) . EQ . 0. 0DO)PROBEG=1000 . 0DO

IF (CHAUX (WZN) . XE . 0 . 0D0O) PROBEG=-DLOG (RNDM(-1) ) sPASSNC(WP(9) ,WP(7))

IF(FRRASP.LE.PROBEG)GO TO 1016

c ——
c Calculation of the particle ranges.

1000 CONTINUE
IF(GHAUX (NZN} .NE.0.0D0)GO TQ 1002

c The particle is in empty space:

1001 PROBEG=1000.0D0
IF(IQ.NE.0)R0=1000.0D0
G0 TO 1004

c The particle is inside the matter:

1002 B=RNDM(-1)
BL=-DLOG(B)
IF (IPART.LE.0)FL=PASSNC(WP(9) ,WP(7))
IF(IPART.GT.0) FL=WAYM(IPART)
PROBEG=FL*BL
1003 CONTINUE
IF(IQ.EQ.0)G0 TO 1004
NK=85+% (NZN-1)+1
TF(IPART.EQ.1)RO=EINT(WF(7) ,TR,RN{NK),86,0)
IF (IPART .EQ.2)RO=EINT (WP(7) ,TR,RP(NK),85,0)
IF(IPART.LT.3)G0 TO 1004
TE=940. 0DO*WP (7) /WP(9)
AN=WP {9} / (940. ODOsWP(8)*WP(8))
IF(WP(7) .LE.EDX1{3) JRO=EINT(WP(7) ,TRI,RNI, TEMAX,0)
IF(WP{T) .GT.EDX1(3) )RO=AMSEINT(TE, TR ,RN{NK) ,85,0)

1004 DO 1005 I-1,9,1
1005 WPIN{I)=WP(I)
H Determination of the new particle co-ordinates:
IF(1Q.EQ.0) CALL NEWCOR(PROBEG,+1)
IF(IQ.NE.0)CALL NEWCOR(DMIN1(PROBEG,R0),+1)

C_.. -
IF(IQ.EQ.C.0R.PROBEG.GE.ROYGOD TO 1007

c Calculation of FL when PROBEG < RO:
ROL=RO-PROBEG
TF(IPART.EQ.1)WP({7}=EINT(ROL,RN{NK) ,TR,85,4)
IF(IPART.EQ.2)WP(7)=EINT(ROL ,RP(NK),TR,85,4)
IF(IPART.LT.3)G0 TQ 1006
IF(UP(T).LE.ED11(3))UP(T)=EIRT(RDL,RRI.TRI,IEHAI,Q)
1IF(WP(7) .LE.EDX1(3))GD TO 1006
AMR=ROL/AM
WP (7)=(WP(9) /940 .0D0) +EINT (AMR ,AN(NK) ,TR,86,4)

1006 FL=PASSNC{WP(9)},WP(7))
c




c -

1007 GOT1=GOT c Datermination of some parameters:
CALL QUT(WP(1),WP{2),WP(3)}) 1012 NZ=IDINT(-GOT1+0.3)
C Looking for a cross-point: IF{IPART.GT.0.AND.GHAUX(NZ) .NE.0.O0DO)WP(7)=0.0D0
CALL CORQUT(DEL,GOT1,WP(T)) 1013 POGL=1.0D0
C - IF(IPART.EQ.2.AND.IQ.LT.0)PIMR=1.0D0
IF(GOT.GT.0.0DQ)GO0 TO 1014 RETURN
IF(IQ.EQ.0.0R .PROBEG.LT.RO)GO TO 1008 1014 CONTINUE
¢ - IF(IPART.RE.-1)RETURN
- C Ionization range < or = interaction range: 1015 FI2G=1.0D0
IF(GOT.EQ.GOT1)G0 TO 1012 CALL NEWCOR(FRRASF,+1}
GO TO 1010 CALL OUT(WP(1),WP(2),WP(3)}
C-- - RETURN
c Interaction renge < ionization range: C-=-- -—
1008 CONTINUE END

IF(IPART.EQ.1.A¥D.WP(7) .LE.TOBRN)GO TO 1013
IF(IPART.EQ.2.AND.VP(7)}.LE.TOBRP)GO TO 1013
IF(IPART.LT.3)C0 T0O 1009
IF(WP{7}.LE.TOBR(IPART-2))GO TO 1013

1009 CONTIRUE
IF(GOT.EQ.60T1)G0 TO 101%

c The cross-point is found:

1010 NZ=IDINT(-GOT1+0.3)
NZN=IDINT(-GOT+C.3)
IF(GHAUX(NZK) .EQ.0.0D0)GO TD 1001
IF(GHAUX(NZ) .EQ.0.0D0)G0 TO 1002
IF(IPART.NE.0)PROBEG=DEL
IF(IPART.NE.0)G0 TO 1003
BL=BL-(PROBEG-DEL) /FL
FL=PASSNC(WP(9) ,WP(T))
PROBEG=FL*BL
GO TO 1004

c The cross—point iz not found:
1011 CONTINUE
IF(IPART.LE.O)RETURN
IF{FL+RNDM(-1} .LT.VAYM(IPART) )RETURE
B=RNDM(-1}
BL=-DLOG(B)
FL=NAYM(IPART)
PROBEG=FL+BL
RO=ROL
G0 TO 1004




IIpunoxenue II1.
Hosaa Bepcusd reoMeTpHYecKOro MORYJs

Mocne nyGnuxaonn (1] reoMeTpaeckne MOTYNH NPOTPAMME! MONETHPOBAHNS MEXE-
AOEPHEIX XaCKAJIOB NOABEPr/IECH HEXOTOPOMY YCOREDINERCTBOBAHHIO. B CBA3H ¢ yTum
IPHBONMM TEKCThI NOANPOTPAMM, KOTOPEIX KOCHYIACH HIMEHEHHS. °

Oramrang oT npepsiAymedl BEDCAN COCTOST B CEAYIOIIEM:

1) nna xaxnol 30EH 38K4I0TCH HOMEDPA 30, NOMEIANLIAXCE BHYTDH Hee;

2) nnA XaKpEOR NOBEPXHOCTH ABTOMATHIECKA ONPENENETCd HOMep 30HH, TPams-
ned KOTOpO# GHA FBNASTCA.

3T0 MO3BOMSET CPA3Y ONPENENHTDb, GYHET M MMETh MeCTO nepeceyesde ¢ JARHON
NOBEPXHOCTLIO, BE BeT. [losToMy Te MOBEDPXHOCTH, € KOTOPHIME HET IEpecede-
HE#, 33paHee MCKMOTAOTCE A3 PACCMOTDEHHL. JTO CYIECTBEHEO COKDALIART BpeMs
pac4eToB.

OcHOBEHE A3MEHEHNA KOCHYNACH Tonnporpammer COROUT u MudOpMAINEA O 30HAX
MHLIeHH, 2anasaemofi B daiine INPUT . DAT. CooTeercTRyoimail dparment INPUT . DAT
HMEeT BRI

c TARGET PARAMETERS
c Nomber of zones in the target ( < or = 30 )
4

4 Geometrical description of the zonaes.
C Two strings are used for each zone:
€ 1) geometrical parameters for thie zone
c (see commnication of JINR, R2-98-221 for detales):
c 11 Xz Tl Y2 1 z2 R1 R2 Ktype
¢ 2) numbers of zones placed inside this one.

0. 0. 0. 0. 0.0 23.8 15.7 0] 2.3
20000000000000000000000000000

0. Q. 0. 0. 2.4 21.4 13.3 0. 2.3
300000CQ00000C0O0QQO0000O000COO0O0D000

0. c. 0. 0. 4.9 i8.9 10.8 0 2.3
400000000000000000000000006000

0. 0. 0. 0. 4.9 18.9 1.3 0 2.3
0000CGO0C0O0CO0000C000000000000000

(B xagecTBe IpAMEpA PACCMOTDEH TOT ¥e CAy4adl, 970 K B [1] - aeTnpe BRoxenunx
DOCHEfOBATENLHG Q¥R B APYTOf IUTHRAPA).

B mopuporpasuax OUT # CHECK Grine 06HADYEPHM B YCTDAHEHI GIINGKH, KACAIUIAECE KOHY-
€08. 3neck NPHBOASTCA ECOPABIEHHEE BEPCHR HTHX IOANPOrPAMM,
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CootBercrayoumil ¢parmedT BENPAX, B xoTOpOM CYATHBAWTCA 3TH IAHHEIE,
HMeeT Teneps BHA:

READ (5,*)
READ (5,%)
c Number of zones in the target ( < or = 30 )
READ (5,*)NZONE
READ (5,%)
READ {5,»)
READ (6,»)
READ (5,*)
READ (5,%)
READ (5,%)
c Ceomatrical description of the zones.
DO 3 I=1,NZ0ONE,1
READ (6,+)(GH(J,I),J=1,9,1)
READ (6,#)(INGE(I,INZ),INZ=1,29,1)
3 CONTINUE
CALL GEOMETRY

B nencamcnensom Mmaccape COMMON /INSIDE/INGH(30,29)) samamm, Takum obpa-
30M, A4 XKaKOO0K 30K HOMEPA BCEX HAXOIAIEXCH BEYTPH HEe 30H.

Hanomamwm, 9T nommporpavda GEOMETRY {0HS He R3MERANACE) NS KAXN0N 30EL
B 33BACEMOCTH OT THIS €e TeOMETDER BEIKBAET COOTBETCTRYOLIYI) NOXIPOr PAMMY
TYPE. .. , KOTOpas BRIYACALET XoMPpPBNAEATH NOBEPXAOCTEH, OrPAHRIABANIHEX ITY
30HY, TIAPAMETPH, ONPEReISIOIAe YCICRAL OTPAREICHEOCTH 3THX NOUBEPXHOCTEHR, B
umcno nopepxrocTel. Tenepk, xpoMe ToTo, B Kaxgoll noqnporpavme TYPE. .. onpe-
IEeNAETCA, X KAKOH 30HE OTHOCHTCY NAHHAR NORepXHOCTL. CooTBeTCTBYIOLIMH dpar-
MeHT OXHOH m3 nmognporpaMM TYPE. .. mmeer muj:

c Zone:
INSF(K)=I

3necs K — BOMep nmoBepxHOCTR, 4 I — HOMep 30HH. TaxmuM ofpaioM, B NENOTHCIEE-
HOM MmaccEpe COMMON /INSIDES/INSF(60) 3anaeTcd COOTPETCTEBHE MeXIY JOHAMA M
nopepxEecTAME. B ocTansaoM nognporpamaea TYPE. . . e maMeEmmuch.

Ianee npesoagTca TexcTH noxnporpadu OUT, CORCUT, CROSS m CHECK.
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SUBROUTINE OUT(X,Y.Z)

G aad

DETERMINATION OF A ZONE NUMBER.
IF GOT > 0, THEN THE FOINT IS QUTSIDE THE TARGET.
IF GOT < ¢, THEK GOT = — ZONE NUMBER.

IMPLICIT REAL#8 (A-H,0-Z)
COMMON /BLOK1/GH(S9,30)

* /NZONE/NZONE

* /GDOUT/GOT

G

c

c

c

DO 100 I=NZONE,1,-1

Selection of a geometry type :
IF{GH(S,I) .E}.1.0D0)G0 TD 1
IF(GH(S,I).EQ.2.1D0)G0 TO 21
IF(GH(9,I).EQ.2.2D0)GC TO 22
IF(GH(9,X).EQ.2.3D0)G0 TQ 23
IF(GH(S,I) .EQ.3.1DO)G0 TO 31
IF(GH{9,1).EQ.3.2D0}G0 TO 32
IF(GH(9,I).EQ.3.3D0)G0 TD 33
IF(GH(9,1).EQ.4.0D0)G0 TO 4

CONTINUE

Parallelepiped

IF(X.GE.GH(1,1I) .AND.X.LE.GH(2,1) . AND.

+ Y.GE.GH(3,I).AND.Y.LE.GH(4,I).AND.

+ 2.GE.GH(5,I).AND.Z.LE.GH(6,1))G0 TO 200
60 TO 100

21

CONTINUE

Cylindexr along x-axes :

IF(X.GE.GH{1,T) .AND.X_LE.GH(2,I) .AND.
+  DSQRT((Y-GH{3,1))**2+(2-GH{5,1))**2).LE.GH(7,I))G0 TO 200
60 TO 100

22

CONTINUE

Cylinder along y—axes :
IF(Y.GE.GH(3,I).AND.Y.LE.GH(4,1).AND.

+ DSQRT{(Z-GH(5,I))**2+(X-GH(1,I))*»2) .LE.GH(7,1I))G0 TO 200
G0 TO 100

12

C

23
C

c

CONTINUE
Cylinder along z-axes :
IF(Z.GE.GH{5,1).AND.2Z.LE.GH(6,1) .AND.

+  DSQRT((X-GH(1,I))«*2+(Y-GH(3,1))*#2) .LE.GH(7,1))C0 TO 200
GO TO 100

31
¢

c

CONTINUE

Cone along x-axes :

IF(X.GE.GH(1,I) .AND.X.LE.GH(2,I}.AND.
DSQRT((Y-GH(3,I)) ##2+(Z-GH{5,I))**2) .LE.

GH(7,I)+{X-GH(1,I))»{GH(B,I)-CH(7,1))/(CH(2,T)-CH{1,1)))
+G0 TO 200
GO TO 100

+*
+

32
c

c

CONTINUE

Cone along y-axes :
IF(Y.GE.GH(3,I).AND.Y.LE.GH(4,I).AND.
+ DSQRT((Z-GH(5,I))»#2+(X-GH(1,I))*+2) LE.

+  GH(7,T)+(Y-GH(3,1))+(GH(8,1)-GH(7,1))/(GH(4,1)-CH(3,1)))
+G0 TO 200
G0 TO 100

a3
c

CONTINUE

Cone along z-axes :

IF(Z.GE.GH(5,1) .AND.Z.LE.GH{6,I) . AND.

+ DSQRT((X-GH(1,I) }#2+{Y-GH(3,I))»*2).LE.
+  GB(7,I)+(Z-GH(5,I))*(GH(8,I)~-GH(7,I)}/(GH(B,I)-GH{5,I)))
+G0 TO 200

GO TO 100

4
c

CONTINUE

Sphere :

TF{DSQRT{(X-GH{1,I)) «»2+(Y~GH(3,I))#*2+(Z-GH{5,1))##2) .LE,
+ GH(7,I))G0 TO 200

G0 TD 100

100

200

CONTINVE
GOT=1.0D0
RETURN
GOT=-FLOAT(I)
RETURN

END
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SUBROUTIRE COROUT(BACK,SIDE,FORV)

DETERMINATION OF THE CLOSEST INTERSECTION PQINT.

IMPLICIT REAL#8 (A-H,0-2)

COMMON /WRPRIN/WPIN(D)
/WRPR/YP (9}
/DAYZ/DX,DY,DZ
/GO0VUT/G0T
/BLOX1/GH{9,30)
/INSIDE/INGH(30,29)
/INSIDES/INSF{(&0)
/GHAUX /GHAUX (30)
/NSURFACES/NSF

DIMENSION RCL{3),RC2{3)

* % % B R R RN

BACK=0.0DO

IF(SIDE.GT.0.0DQ)RETURN

NZ=IDINT(-SIDE+C.23)

NZ1=IDINT(-GOT+0.3)

IF(NZ.EQ.NZ1.AXD.INGH{NZ,1) .EQ.CQ)RETURN

DEL1=0.0D0

DEL2=0 .0DO

Let’s devermin the following values to use them in CROSS:
DX»WP{1)-WFIN{1)

DY=WP(2)-WPIN(2)

DZ=WF{3)-WPIN(3)

Looking for the closest intersection point amongst all surfaces:

DQ 4 I=1,N5F,1

Some checkings for the surface of number I:
IF{NZ.NE.NZ1_AND.INSF(I).EQ.NZ)GOTO 2

p0 1 INZ=1,29,1 :

IF (INGEH(NZ ,INZ) .NE.0.AND.INSF(I) .EQ. INGH(KZ,INZ) )GOTO 2
CONTINUE

GOTO 4
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Determination of intersection points for the surfase of number I:
CALL CROSS(I,RC1,RC2,IND1,IND2)

Checking for these interssction points:

IF(IKD1.LE.0)GOTO 3

CALL CHECK(I,RC1{1),RC1(2),RC1(3),IND)
IF(IND.CT.0)DEL1=DMAX1{DEL1,

+DSQRT ( (WP (1) -RC1 (1)) #+2+{WP{2)-RC1(2)) #2+ (WP (3)-RC1(3)) ++2))
IF(IND2.LE.0)GOTD 4

CALL CHECK(I,RC2(1},RC2(2),RC2(3),IND)

IF(IND.GT.0)DEL2=DMAX1 (DEL2,
+DSQRT { (WP (1)-RC2(1) y»#2+{WP{2) ~RC2(2) ) ++2+ (WP (3)-RC2(3) ) #»2))
CONTINUE

Choose ot the closest intersection peint:
BACK=DMAX1{DEL1,DEL2)

1F (BACK .LE.0.0DO)RETURN

To avoid stoping:

BACK=BACK-1.0D-7

PATH=DSQRT (DX##2+DY#»#2+DZ#w2}
WP(1)=WP{1)-DI+BACK/PATH

WP(2)=WP(2)-DY+BACK/PATH

WP (3)=WP(3) -DZ+BACK/PATH

Determination of a zone number:

CALL OUT(WP(1),WP(2),WP(3))

Correction of the ensrgy for the chargsd particles:
IF(WP{8) .EQ.0.0DO)RETURN

PATH=

+3QRT ( (WP (1) -WPIN(1)) ##2+ (WP (2)-WPTH{(2) } w2+ (WP(3)-WPIN(3) ) »*2)
IF(GHAUX(NZ) .GT.0.0DO)VF{7)=TNEW(PATH,SIDE)
FORV=WP(7)

RETURN
END
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SUBROUTINE CROSS(I,RC1,RC2,IND1,IND2)

aconOacaaoacaoaaaoaa

IF(DABS({4) .GT.1.0D-10)C0 TC 2
c If A=0, then the equation is the one of the first order.
c Root of the equation:

Ti=-0.5D0*C/B

IF(T1.LE.0.0DO.0OR.T1.GE. 1. 0DO)RETURN
¢ If T1 is in (0,1}, then the intersection point:

CALCULATION OF INTERSECTION POINTS :
Surface: SF(1,I) = X*2 + SF(2,I) = ¥"2 + SF(3,I) » Y2 +
+ 2 SF(4,1) = XI¥ + 2 SF(b6,I) » YZ + 2 SF(6,1I) » ZX +
+2SF(7T,I) #X +28F(B,I) =Y +28F(O,I=*Z +
+ SF{10,I) = 0.

INDi=+1
Interval: X = (1-T) = WPIN(1) + T » WP(1), RC1(1)=WPTN(1)+T1+DX
¥ = (1-T) = WPIR(2) + T s WP(2), RC1(2)=WPIN(2)+T1sDY
Z = (1-T) * WPIN(3) + T * WP(3), 0<T <. RC1 (3)=WPIN(3)+T1+DZ

RETURN

To find intersection points, we should solve the

equation: A*T2+2B*T+C=0, 0<T«<1. c Determinant of the sequation:

IMPLICIT REAL#B (A-H,0-Z)
COMMON /SURFACE/SF(10,60)

2 D=B*B-AsC
IF(D.LE.0Q.ODCRETURN
DET=DSQRT (D)

<

* /VRPRIN/WPIN(S) c Roots of the equation:
» /¥RFRAWER(9) Ti=(-B-DET) /A
* _ fDXIYZ/DX,DY,DZ . T2=(-B+DET) /A
DIMENSION RC1{3),RC2(3) c
- - IF{T1.LE.0.0DO.OR.T1.GE.1.0D0O)GOTD 3
INDi=-1 c It T1 is in (0,1), then the first intersection point:
IND2=-1 INDi=+1
T1=0.0DD RC1(1)=WPIN(1)+T1+DX
T2=0.0D0 RC1(2)=WPIN(2)+T1+DY
DO 1 I=1,3,1 RG1(3)=WPIN(3)+T1sDZ
RC1(J)=0.0D0 3  IF(T2.LE.0.0D0.OR.T2.GE.1.0DO)RETURN
RC2Z{I)=0.0D0 c It T2 is in (0,1}, then the second intersection point:
- IND2=+1
Coeficients for the equation: RC2{1)=WPIN(1)+T2sDX
A=SF(1,I)*DX*DI+SF(2,1)*DY*DY+SF(3,1)+DZ*»DZ+ RCZ{2)=WPIN(2)+T2+sDY
+2.0D0# {SF{4, I) *DX+DY+3F (5, 1) *DY*DZ+5F(6,1) #DZ»DX) RC2(3)=WPIN(3)+T2+DZ
B=SF(1,I)«DI+¥PIN{1)+5F(2,1)sDY+WPIN(2)+SF(3,1)#DZ+WPIN(3)+ c
+SF (4, 1) (DL+WPIN{2)+DY+WPIN(1))+ RETURN
+SF(5,1)*(DY*WPIN(3)+DZ+WPIN{2))+ END

+8F (6 ,I1)*(DZ+WPIN(1) +DE+WPIN(3) )+

+SF (7 ,1)+DX+8F (8, I) «DY+5F(9,1)+DZ
IF(DABS(A).LE.l.DD—iO.AHD.DABS(B).LE.l.OD-lO)HETURH
C=SF(1,I)#HPIH(l)t*2+SF(2,I)*HPIH(2)t*2+SF(3,I)tHPIN(3)012+

+2.0DO*((SF(A,I)*HPIH(2)+SF(7,I))*HPIH(1)+

+{SF(5,1)+WPIN(3) +SF(8,1))+WPIN(2)+

+(8F (6, 1)*WPIN(1)+SF(9,1) ) +WPIN(3))+

+5F(10,1)
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SUBROUTINE CHECK(I,X,Y,Z,IND) ¢

c - : 31 CONTINUE

c CHECK: DOES THE INTERSECTION POINT BELONG TO A ZONE OF NUMBER 1 ? c Cone along x-axes :

¢ IF IND > O, THEN YES. 1F(X.GT.CN(1,1)-1.0D-10.AND.X.LT,CN(2,I)+1.0D-10.AND.

¢ IF IND < D, THEN ¥O. +  DSQRT((Y-CN(3,I))»+2+(Z-CH(5,1))*+2) .LT.

¢ +  CH(7,I)+(X-CN(1,I))*(CN(8,1)-CN(7,1))/(CN(2,1)-CN(1,1))+
INPLICIT REAL#8 (A-H,0-Z) +  1.0D-10)RETURN
COMMON /CONDITIOH/CN(9,60) GO TO 100

¢ - c
IND=+1 32  CONTINUE

c Selectiom of a condition type : (V] Cone along y-axes :
IF(CN{(9,T).EQ.1.0D0)G0 TO 1 IF(Y.GT.CN(3,I)~1.0D-10.AND.¥ LT.CN(4,T)+1.0D-10.AND.
IF(CN(S,I) .EQ.2.1iD0)G0 T0 21 +  DSQRT((Z-CN(5,1))»#2+(X-CN(1,I))#*2).LT.
IF(CN{9,I) .EQ.2.2D0)G0 TO 22 +  CN(7,1)+(Y-CN(3,1))#(CN(8,1)~CN(7,I))/(CN(4,1)~CN(3,1) )+
IF(CN(9,1) .EQ.2.3D0)GO TO 23 +  1.0D-10)RETURN
IF{CN(9,1).EQ.3.1D0)C0 TO 31 G0 TO 100
IF(CN(9,1).EQ.3.2D0)G0 TO 32 c
IF(CN(9,1).EQ.3.3D0)G0 TO 33 33  CONTINUE
TF(CN(9,1).EQ.4.0DD)GO TO 4 c Cone along z-axes :

c o IF(Z.GT.CN(S,1)-1.0D-10.AND.Z.LT.CN(6,1)+1.0D-10. AND.

i CORTINUE +  DSQRT({X-CN(1,I))**2+(Y-CN(3,1I))+s2) LT.

C  Parallelepiped : +  CN(7,I)+(Z-CN(5,1))*(CN(8,I)-CN(7,1))/(CN(6,1)~CN(5,1) )+
IF(X.GT.CN(1,1)-1.0D-10.AND.X.LT.CK(2,I)+1.0D-10.AND. +  1.0D-10)RETURN
+  Y.GT.CN{(3,1)-1.0D~10.AND.Y.LT.CN{4,I)+1.0D~10.AND. G0 TO 100
+ Z.GT.CN(5,I)-1.0D-10.AND.Z.LT.CN{6,I)+1.0D-10)RETURN ¢
GO TO 100 4  CONTINUE

C-———=~=mommem - c Sphere :

2t  CONTINUE TF(DSQRT{(X-CR(1,1))#*2+(Y-CN{3,1)) #+2+(Z-CN(5,1)) #2) .LT.

c Cylinder aleng x-axes - +CN(7,1)+1.0D-10) RETURN
IF(X.GT.CN(1,I)-1. OD-10 . AND. X.LT. CN(2,I)+1.00-10.AND. G0 TQ 100
+  DSQRT((Y-CN(3,I))#«2+{Z-CN(5,I))++2) .LT.CN(7,1)+1.0D-10)RETURN C
G0 TD 100 100 IND=-1

L RETURN

22  CONTINUE END

c Cylinder along y-axes : -
IF(Y.GT.CN(3,1)-1.0D-10.ARD.Y.LT.CN{4,I)+1.0D-10.ARD.
+ DSQRT({Z-CN{%,I))*+2+(X-CN(1,I))*+2} .LT.CN(7,I)+1.0D-10)RETURN
GO TO 100 JInTeparypa

C

L. Bapawenroe B.C., Coaceves A.I. Cocnun A.H. Anropary pacaera nepecede-

23  CONTINUE Huit sacTAned 308 b rereporentoll cpere (I'eoMeTpraeckre MOAYIH HpOT

. porTy
c Cylinder along z-axes : MONEHPOBAHAA MeXbifepHnx kackanos). Coobiue
IF(Z.GT.CN{5,I}-1.0D-10.AND.Z.LT.CN(6,1)+1.0D-10.AND. HyGua, 1998. ) axe OWSM P2-88-221,
+ DSQRT{ (I-CH{1,1))*+2+(Y-CN(3,T))»#2) LT.CN(7,1)+1 .0D-10)RETURN
GO0 TO 100
c i _ PyxonHce noctymina » winareiscxnii oTacn

23 anpena 1999 rosa.
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